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SOUTH SYDNEY HIGH SCHOOL ‘ / {__
MATHEMATICS DEPARTMENT y /?C :

YEAR 11 EXTENSION 1 TASK 1

Question 1:
(a) Solve the following inequalities
A |2x-1<4

() [px-5=4

# (iid) <1

2
e
(iv) 2x*+5x-320
®) A function is given by g(x)=2x*+3x~2.
@) Evaluate g(-2)

w (i) For what values of xis g(x) <2x*+1?

Question 2:
(2) A function is defined by:

3 forx<-2
fx)={x*-1 for -2<x<1
x-1 forx>1

@) Evaluate 7(2)
(ii) Evaluate f(-3)

(iii)  Sketch the above function

& (b) Determine if the following function is odd or even? (Give reasons)
f(x)=x*-3x
©) Show the region where each iriéquality holds simultaneously.”

=% y>x' and x+y<2,




Question 3:

Sketch the following functions, showing all critical points.
State the domain and range in each case.
TN N e,

(@ y=4-x
3

b y= 1

© y=2-%

(& y=4x-x?

(& y=|x-2

Question 4:

(@) Sketch y=x*-6 and y=|x| on the same set of axes.

) Find the x co ordinates of the points of intersection.

(ii) Hence solve x*-6<|x|

(b) Solve the following inequalities:

1
x=2

23

@

(i) |x— 3} < |2x + 1]

(i)

<L
x-4 2x

Question 5: ’

2
(a) For the following function y= %x 5
x —
@) Is it odd or even? (Give reasons)

(i) Find any other asymptotes.
(iii)  Find where it cuts the axes.

(iv)  Hence sketch the curve.

®).- @) Sketch the graph- y =[2x+4|+|x~1|-5
(iii) On the same number plane draw the lines y=~1 and y=2.

Hence solve the inequation —1<|2x+4|+[x—1-5<2
d& 6. 7t -§L2
o4+ V-5

-

A7
é-}' ,‘0




Year 11 Extensmn 1 Test 39/3/2006 Solutmns

| Q‘-’%‘ltldn / (// uqr‘,és \}
)
({) 12&: /] < 4

1< 2%l < 4 e
3<2x <4

E<x<f

| & 135124

A

Bz G

Queﬁ{‘/oﬁ. 2
e © —C‘(z): 2-1

3-8 = 4 o 2x-5&=4 /]

O]

es orchin

@ Al r—ew’ rios / k

yto

/(R c.orre::% ]

o 3xgl Plo) = k20 () |
xz3 * g ‘é‘ S ‘ x4 3x M
(w27 < ‘;\vh"e"y" ’/~ .
| <z o~ A/ NI
2| X172 or x-]<-2 S \\(///} Ve
v 22 +5x-320 | _ N\
QDC. t){sL»‘;) O v / ( For m{‘ersec}tm)
" : %(19 o *%ﬁ: - 2 Oyestron 3 fYy (26 marks)
LR RS(ORA I R e
« O ! e
. [P G %
i WAL e ~2 — { A
) g6 4.’&% j!a B PRSP /(_7;?,(- ;,rf?; )
Bebiye-2 < ide o R esyez S o ol wieey
T A b
3x < 3




I@)

N
[ (Furcor
o ‘/%‘ﬁ?
t 1o P ceal ’FDS/ _ \
p: Al cesl nos
2
"Q:Ll‘x-x_
d) ('274) =% (-9
S (For comed T
L. /
I ! 2
; b. &!}reag nes
2 g<h S
)

7

/~ 2

0. H)) ceal ros o
2 32"‘2.. V

Qu eSILi on &
) '

2

I mrz’gi} *

()

oo

W= DL
jg*é = D
2 o

@L- 9{.7*"1—25 =0

>x=3 oc 2 o

2 2) =0

—SL =3 @

*>& éé{[

34

/

=3
2 H bobh
e-2) > 3 (3D e "126 aﬁ@,—v
*-2 2 3(oE- bty
2m2 3 o212
3~ 1B I £ O L
B T
2 = ::,'é‘:'&% /
OR |
N I i
< p =
: ;i / 1%
=~ 2 bgn, i >
w: 3z 6o |
| %%--‘7
p I/}




QD }1-31 < 22\7_,-&-1/

(5" <™ g
Xt < bebstmn)
ez ~g T O A /

G244y > 0

2
X7T or <-4

) Zf’} - Foom f}(aP)“ K or oA
vQ)CS’}"o”é 5 ¢ s Qs?’ mfé@}
_ . ,L':(-.

& @ ey <1
-
2.

2T

:._,Tol'
¥y

S uen $UI’} o-zinm

{ \ o
) N A
‘ VY - ayen) I
| 2 \/erhw.[ assjmp*d{z/‘* o3 and ?L
»re-3 /]

N

}t::‘m %9 = ‘}’m mz Yanw.
"3{,)—:7» \— U
= 2 ' g |

LoWw=2 hmz,wlnl 0(550}”)})710929/ /
) bhen >t=0 q=0 /

From %ml’)”r ’17% o )bQ;’Lf (v i [ (
, i ‘ |
‘ ¢ - » 5-—— - —
e Lf’ 2 ‘/"'LJLLEQ@Q sy £ E —t ; I :
Silee) S 2 by O L ///

ﬂxL@“t>~ZaLéﬁ~@ <0 “ | :
z—ac.{gu—cgi?-x, @b%}i <O ? i
f

2o A~6y (250-x u> <o /

o QJ’.-L\-)QJ' -f—é.\)




For x &
- <+

' B ( e 4l
LR

Fw =2 $j>c<1 /

L:)_— 2544 4 (2~1) 55’
| = 2l | 5
-

o
o

Ws=- @wf»ﬁ‘) ~ ()~ 5
= ”2“‘.‘&"?" #d =5

.

3:::

,.zé z“a% Q‘@{; |
Ye =% -8 — ¢
g2

“"‘%&f&w% ==/ |
s ae»ﬁi

v Yo

ﬁ Eﬁ*m «»& %@3}’%

@*

Saied




